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A rectangular-based open box has external dimensions of 2x ¢m, (x + 4)emand (x + 1) cm.

(a) (i) Write down the volume of a cuboid with these dimensions. 1]

(i) Expand and simplify your answer. 1]
(b) The box is made from wood 1 cm thick.

(i) Write down the internal dimensions of the box in terms of x. 3]

(i) Find the volume of the inside of the box and show that the volume of the wood
is 8x%+ 12x cubic centimetres. [3]

(¢) The volume of the wood is 1980 cm?,

(i) Show that 2x*+3x-495=0 and solve this equation, [51
(i) Write down the external dimensions of the box. [2]



